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B.B.A/B.B.M II Semester Degree Examination, April/May - 2019
MANAGEMENT

Business Communication

(New) -
Time : 3 Hours _ _ Maximum Marks : 80
Instructions to Cahdid_atesf
"~ Answer to the Point.
| PART-A
1.  Answerany TEN of the following: | B (10x2=20)

a  WhatisNon v_erbal communication?

b.. What is meant by Speech composition? |
c. WhatisaTheme speech?

d.  Whatdoyoumean by Appraisal interview?
e.  What d;) you mean by Brain storming? -
f.  Whatis meant by Ageﬂda?

g _Wh’at _is an effectiveISpee_xking?

h.  Whatdoyou understand by Sales letters?
% Wh.at is éE_xit interviews?

j. Whatis meantby Listening‘?

k. WhatisaTelex?

. Whatdo youmeanby Minutes?
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10.
11.

PART-B
Answer any THREE of the following; ‘ -~ (3x5=15)
Explain the Strategies of effective communication, |
Explain the principles of effective Presentation.
Write an art of conducting and giving interviews.
Discuss the importance of Interviews.

Explain qualities of well written report.

PART-C

 Answer any THREE of the following;  (3x15=45)

Briefly explain typeé and forms of Communication.

Explain importahce of Public speaking and Speech composition.

Write a note on :

a.  Placement interviews.

b.  Appraisal interviews.

c. - Exit interviews_.

What is Report writing? Explain the audio—visuél aids used in communication.

Write a job application letter for the post of an Accountant in Royal company, Mumbai.
Give your Bio-data.




/ WA . 13224(00)

BBA /BBM II Semester Degree Examination, Apri/May - 2019

MANAGEMENT
Quantitative Technique -1
Paper - 2.5

©ld)

Time : 3 Hours Maximum Marks : 75

. Instructions to Candidates:

'Use graph sheets, Business calculators and statistical tables if necessary.

Part-A

L = 1. Answerany TEN questions. | .(10*2=20)

a.  Define the classical approach of probability-
b.  Whatdo you mean by equally likely events? Give example.

~ ¢. Define TypeIand Type Il error.

d.  IfP=0.5 and n=100 then find SE(P).
¢.  Write the Pmf of Poisson distribution with range. -
f . IfE(?) =74 and E()=5 find Var(x).

g IfSDis2 for normal distribution find QD and MD.

h.  Write thel formula of x? test with degrees of freedom in tt_asting of Independence

of attribute.
[P.T.O.
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i.  Define power of test.

j.  ForaBinomial distribution, If n=5 and P=0.4. Find mean and variance.

k  Inpaired t-test If n=5,d =3 and S, =1.5then what would be the value of test

statistics t 7

. . Whatis null and alternative hypothesis?

- Part-B :
I Answerany FIVE questions. | (5x8=40)

2. Abagcontains 3 white, 4 red and 2 green balls. One ball is selected at random from
bag. Find the probability that the selected ball is (i) White (ii) Nonwhite (iii) White
or green. _ :

3. Explain the procedure for festing equality of means.

4.  Inacollege 35% students are girls. Find the probability that (i) 2 are girls (ii) at least
one is girl in random sample of 5 students.

5. The second and third fréquency terms of a Poisson distribution are 100 and 80
respectively. Find the next two frequency term.

6.  From the following data test whether the difference between population proportion

is significant at 5% level of significance.

‘| Sample I I

Size | 200 [ 100

Proportion | 0.28 | 0.34
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7 | Following is the data regarding five students administered for an IQ test before and
after treatment of yoga.

IQ Before|118 | 120116 [ 115 [ 125
| 1QAfter (125|118 {125]120]130
Is treatment effective (Use 5 %).

8. Anormal variate has variance 81 Twenfy _oné ré_ndom observations of the variate have
variance 100. Test at 1% level of s gnificance whether the sample variance difference
significantly from the population variance.

Part-C _
IIL - Compulsory. - : ' (1x15=15)

9. A Survey of 64 families with 3 children each is conducted and the number of male

children in each family is noted. The results are tabulated as follows,

ale Childrer| 0 1 (2 |3 [Total

Families 6 119129 |10 |64

Apply Chi-S quare test of goodness of fit to test whether male ahd female éhildren are
equiprobable (o =5%, k,=7.81). -
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BBA/BBM II Semester Degree Examination, April/May - 2019

- Time : 3 Hours

Instructions to

- MANAGEMENT
Quantitative Techniques- II
(New)

Maximum Marks : 80
Candidates: | |

Use Graph sheets, Business Calculators and Statistical tables if necessary.

PART-A
I. 1. Answer any TEN questions. . _ (10x2=20)
"a2) Define Sample space with example. |
" b)  What do you mean by equally likely events? Give example.
¢) A dice is thrown once what is the probability of getting an'even nlumber.
d) | Define Type 1 énd Type II errors. | vv
e) A randofn sémple of size 100 is drawﬁ from a population whosé standard
~ deviation is 0.48. What is the standard error of the sample mean?
| f) Give two examples of Binomial distribution.
g) Write the PM.F of Hyper geometric distri.buti'on with range.
-h)  Write any two applications of chi-square test.
i)  For a standard deviation of Poisson distribution is 2 find the probability that
- op(x=0). : .
1) .Deﬁne_ random variable.

[P.T.O.
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k) If EG*)=74 and E(x)=5 find var(x).

)  Write the formula of 7 test with degrees of freedom in testing of independence - "

of attribute.
PART-B
II. Answer any THREE questions. - (3%5=15)

2. A bagcontains 3 white, 4 red and 2 green balls one ball is selected at random from
bag. Find the probability that the selected ball is (i) White (i) Non white (iii) White
or green. T

3. Inacollege 20% students are girls in arandom sample of 5 students findthe probabi.lity
that (i) 2 are girls (ii) at least 3 are girls.

4. State five properties of normal distribution.

5. From the following data test whether the difference between population proportions
is significant at 5% level of significance. _ -

Sample I I
Size 200 100
Proportion|0.28 0.34

6. The following data represents the blood pressure of 5 persons bé_fore. and after
performing dhyana. :

Persons ' A B | C |D |E

BP before Dhyana | 90 | 90 | 100 88 |99

BP after Dhyana | 88 | 90 | 95 |90 |96

Can we conclude at 5% level of sig_niﬁcance that Dhyana reduces blood pressure
(k=2.13). : | ;
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PART-C
III.  Answer any THREE questions, : (3x15=45)
7. a) The following mistakes per page were observed in a book.
No of mistakes| 0] 1] 2 | 31 4
No of pages 211 {9 (19 | 5] 0
Fit poisson distribution to the data. Obtain expected frequencies. By
b)  Ina poisson distribution, if first two frequen_ciés are 100 and 120 find the
next frequency. - @
8. a) The weights of 1000 students are normally distributed with mean 55kg and
SD 3kg find the number of students with weight (i) less than 58 kg (ii) Between
57 kg and 60kg. (iii) More than 50kg.
b)  Write the features of chi-square distribution.
9. @) For the following data test whether mean weight of group Lis greater than
% group IT (use k =1.81)
Group I Group II
Sample size 7 5
Mean 50 48 | o
.| Variance . 9 « 3
| b) A milk filling machine fills sachets with milk. The contention is that S.D of
quantity of milk filled is more than 3ml. To test this 24 sachets are randomly
selected and their contents noted. If the S.D of these observations is 3.8ml.
What is your conclusion (0=5%, k,=35.17).

10.

Apply chi-square test whether binomial distribution is good fit (oa=5 %, (k=7.81).

Male children|[0 | 1 | 2 | 3 Total

[Families 6 |19]29|10] 64

[PT.O.
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11. a) For the following probability distribution.

X <1 0 1 2

| Vs Yol Ho| %

Find (i) F (x) (i) Var (x) (iii) S.D(x) (iv) E(2x-4)

b) A bag contains 5 tennis balls and 4 cricket balls. Three balls are drawn
randomly from the bag find the probability that.

(i) All the drawn balls are cricket balls.

(i) At least one ball is cricket ball.

[PTO.
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B.B.A/B.B.M II Semester Degree Examination, April/May - 2019
MANAGEMENT

Financial Accountinlg -1I

(New)
Time : 3 Hours N | Maximum Marks : 80
Instructions to Candidates: | |
| 1. Answer required number of questions.
.2.. Show calculations whenever necessary. '
3. . Simple calculator is allowed to use. .
Section - A
i. Answer any Tén questions. Each carries 2 marks. ' (10x2=20)

‘. Who is an Insolvent partner?
b.  What is Profit and Loss Appropriation Account?
c. State any Two differeﬂces between Fluctuating and Fixed capital method.
d. Whatis Purchase consideration? | i
e. State two main objectives of Amalgamation. |
£ WhatisLLP? | . o @
g. State any two differences between Partnership firm and LLP.
“h.  Give the meaning of Dissolution of Partnership firm. |
1. | _ What do you mean by conversion of partnership into a _limited company?
j. . What is Cash down pﬁyment? | |

k. State any two features of Installment system.

‘1. Mention different types of Branches.

[PTO.
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Section - B
Answer any Three questions. T N (3x5=15)
2. Explain any five features of LLP.
3. Prakash and Praveen commenced business in Ipartnership with a capital of Rs.50,000 and

Rs.40,000 respectively onl-4-2018, agreeing to share profits and losses in the ratio of
3:2.For the year ending 31-3-2019 they earned the profit of Rs.1 8,000 before allowing :

i. Interest of Capital at 5% p.a.
ii. Interest on drawings prakash Rs. 300 and praveen Rs. 500.
iii. ‘Annual salary of P;'aveen is Rs. 5000.
iv. Théi_r drawing during the year - Prakash Rs. 8,000 and Praveen Rs. 10,000.
Prepare Profit and Loss Appropriation A/C of the firm.
4. Jek and Co. Ltd was formed fo take overthe partnership business of Ramesh and Suresh.
Jek and Co. took over the following assets of a firm at the value mentioned against them:
~ Building Rs. 60,000; Stock Rs. 30,000; Debtors Rs. 40,000 and Goodwill Rs. 20,000.
The Company also agreed to pay the Creditors Rs. 50,000. Calculate Purchase:

Consideration.

5. From the following information, Prepare Branch Debtors Account:

Debtors on 1-1-2018 12,500
Debtors on 31-12-2018 . 17,850
Allowances to debtors 375
Cash received from customers 25,500 _ -
Return from Debtors -~ 310

Discount allowed to customers - 1,200

Bad debts - - 450,
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Mr. Mahesh purchased a vehicle on 1:1-2001 under installment purchase system and
agreed to pay four yearly installments as under : .

6.

On 1-1-2001  Down payment
On 31-12-2001 IInstallment
On 31-12-2002 II Installment

On 31-12-2003 Il Installment

25,000.
96,000
87,000

78,000

23222(New)

'On 31-12-2004 IV Installment 69,000
The Vendor -charges interest at 15% p.a. On the unpaid balance of cash price.
@
You are required to ascertain the cash price. :
Section - C
Answer any Three questions. | (3><15=45)
7. A, B and C are the partners in a firm sharing profits and losses in the ratio of 4 : 3 : 1
respectively. On 31-3-2018, they agreed to sell their business to a newly formed joint

stock company. Their position as on the date of sale was as follows :

Balance Sheet

Liabilities Rs. Assets Rs.

o
Creditors | 36,000 | Buildings 54,000
Capitals : Machinery | 36,000
A 60,000 | Debtors 45,000

B 45,000 Stock 39,000
C 39,000 Cash at Bank 6,000

180,000 - 180,000

[PTO.
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"The Company took over the following assets at a valuation showed below : = - b 1.

Bulldmgs Rs. 66,000, Machinery Rs. 30,000, Debtors Rs. 40,000, Stock Rs. 38,000 and 1
Good will Rs. 15,000 B

The Creditors were paid by the firm at a discount 2% and the realisation expenses
amounted to Rs 300.

The' Purchase price was paid by the Company partly in fully paid shares worth Rs.
. 96,000 and the remaining was paid in cash.

the partners agreed to take over the shares in their profit sharing ratio of 4:3:1.
Prepare the necessary accounts to close the books of the firm.

8. PQ and R are equal partners demded to dissolve their firm on 31-12-2012. Their
Balance Sheet on that date is as follows :

Liabilities Rs Assets Rs
Capitals : | | Cash at Bank| 4,000
P 30,000 | Other assets 66,000
; Q _ 20,000 : LF
| R 5,000
. é;editors 15,000
70,000 | K 70,000

The other assets realised 50% of their book value. The realisation expenses are
Rs. 3000. R became insolvent and was unable to contrxbute anything towards debts of
the firm.

Prepare necessary ledger accounts in accordance with the decision in Garner Vs Murray
case. :
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From the following particulars relating to Manglore Branch for the year ending
31-12-1982. Prepare Branch A/c and Branch Debtors Alc in the books of Head office:

The goods are supplied at cost +25%

Sto.ck on 1-1-1982(L.P) 27,000
Sundry debtors on 1-1-1982 22,500
Petty- cash on 1-1-1982 60
Goods sent to Branch (I.P) _ 1,50,000
Cash sales 1,11,000

Goods returned by branch (ILP) 4,500

Cash Sent to branéh for :

Salaries 10,800
| Reht and other expenSes | 8,400
Petty cash 1,950 °

Cash received from debtors 1,18,200

Discount allowed to debtors 1,800
Stock on 31-12-1982 (LP) 33,900
Petty cash on 31-12-1982 90

10. Shri. Sadhu Co. Ltd purchased an engine from Shri. Madhu on hire purchase system. The
cash price was Rs.7,450. Shri. Sadhu paid Rs.2000 on signing of the contract and balance
in three equal installment of Rs.2000 each at the end of each year. The interest is charged
at 5% p.a. Provide depreciation at 10% p.a. On the diminishing balances.
Prepare Engine A/c and Vendor A/c in the books of Shri. Sadhu Co. Ltd.

[P.T.O.

-
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11. From the following Trail Balance of M/S Naveen and Pradeep. You'éref'rEQﬁiréa to | 11T}
prepare Tradirig and Profit and Loss account for the year ended 31 March 2018 and L Ad
Balance Sheet as on that date. -, o
Trail Balance as on 31-3-2018
| Particulars ' Debit(Rs) | Credit (Rs.)
Capital A/c: Naveen | | : - 1,20,000
Pradeep . = 70,000
Purchases and Sales 93,400 ~1,70,000
P Sundry Debtors and Creditors 56,000 50,000
Bills receivable and Payable 10000 12,000
Commission | 9,200 3,600
Opening stock 36,000 - -
Wages e 19,800 -
Investment : _ 27,000._ - |
Postage and Telegrém | | | 7,200 | _ -
ﬁ_ Insurance | - | 2,400 -
. Plant and Machinery 81400 | . s
Furniture 36,000 e
Cash in hand . 5,000 - |
\ " Carriage | 6,400 B -
| ' Bad debts 800 Lk |
Pre-paid ren.t : | 14,000 | -
Salaries : 21,000 | -
425,600 4,25,600
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Adjustments: . :
1. The Closing stc;ck is valued at Rs. 62,000.
2. Outstanding expen-ses were wages Rs. 2800 and Saiaries Rs 1600.
3. Depreciate Plant and Machinery at 10%.
| 4, Insu’;an_ce at Rs. 1000 be paid in advance.
-S . Commission due but not received Rs.-2400.
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B.B.A./B.B.M. II Semester Degree Examination, September/October - 2021

MANAGEMENT
QUANTITATIVE TECHNIQUES - 11
PAPER - 2.3

(New)

Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:

Use of graph sheets, Business calculators and statistical tables if necessary.

SECTION-A

1. Answerany Ten questions. | (10x2=20)
a)  Define probability.
b)  Define random variable.
¢) IfE£(x*)=74and E(x)=5Find var(x).
d)  Givetwo examples of Binomial distribution.
e)  What is critical region?

. f)  Whatis Type - I & Type - II Errors?
g)  Define power of test.
h)  Mention two conditions for % ° - test of goodness of Fit.
i) What do you mean by Standard Error?
1) Define one - tailed & two - tailed tests.
k)  Write down the t - test statistics & degrees of freedom in the case of test for equality
of means.

[) IfR=03& P,=02,Findmeanof (B-B).

[P.T.O.
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L SECTION-B
Answer any THREE questions. (3x5=15

2. Tickets are numbered from | to 100. They are well shuffled & a ticket is drawn at random
What is the probability that the drawn ticket has:

a) A oddnumber
b) A number 10 or multiple of 10
¢)  Anumberwhich is square.
a 3. Write down properties of normal distribution. .
4. Anunbaised coin is tossed 6 times. Find the probability that the tosses result in
1)  Headsonly
i) 3 heads & 3 tails
i) 5 or more heads.

S.  Itis required to test whether the proportion of smokers among students is less than that
among the lecturers. Among 60 randomly picked students, 2 were smokers. Among 17
randomly picked lecturers 5 were smokers. What would be your conclusion?

6. 36 random observations have variance 1.21. Can we conclude that the population variance
is 2.4?

SECTION-C .
Answer any THREE Questions, (3x15=45)
7. The following are the weights in kgs of 7 husbands & their wives.
Couple: 1 2 3 4 5 6 7
Husband: 62 56 59 73 49 54 67
Wife: 55 61 62 68 52 51 62

Test the hypothesis that mean weight of husband & mean weight of wives are equal.
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10.

11.

A survey of 64 families with 3 children each is conducted and the number of male children
in each family is noted. The results are tabulated as follows:

Male children 0. ] 2 3 Total
Families 6 19 29 10 64.

Apply chi - square test of goodness of fit to test whether male & female children are
equiprobable.

X is a normal variate with mean 42 and standard deviation 4. Find probability that a value
taken by X is:

1)  Lessthan 50

11)  Greater than 50

ii1) Less than 40

iv)  Greater than 40

v)  Between 43 and 46
vi) Between 40 and 44
vil) Between 37 and 41.

For the following probability distribution.

X -1 0 1 2

1 1 2
M 7w W3
Find

1) E(x) i)  var(x) i) S.D(x) iv) E(2x-4) ) E(Zf).
a)  Explain the procedure ofhypothesis testing.

b)  Discuss the various kinds of Events.
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B.Com./B.B.M./B.B.A. II Semester Degree Examination, Septembef - 2021
ENGLISH - BASIC
(New Scheme)

Time : 3 Hours | Maximum Marks : 80
Text: Merchandise '

I.  Answer the following in a sentence or two. (10x1=10)

1. Who were the masters of the seaborne trade of europe. Asia and Africa during
ancient times?

Which is the largest private sector bank in India?

Who is the head of ‘eBay’ India?

Agriculature was the basic activity of many people which was known as ..........
What is trade?

Who is Priya Paul?

Define capitalism?

When did Chanda Kochhar join ICICI as a management trainee?

R RN S NIV S O VU )

She is an icon in the banking sector. Identify the meaning of ‘Icon’.

=

What is the role of communication in daily existance?

II.  Answer the following in four or five sentences (any five out of eight). (5x2=10)
1. Who were the different trading classes in India?

What according to Indian Government is ‘Women Entreprenuers’?

Give two initial impacts of capitalism on the Indian Society?

Indian women. '

What is logistics?

The role of a language in marketing and advertisement.

Name the places where the ‘Park Hotels’ are located?

® N AW

Which are the medals and awards received by Chanda Kochhar?

[P.T.O.
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ITI. Write_short hotes on the following. (any six out of eight) ' (6x5=30)

PN AL~

Discuss about the use of currency from Vedic period to Vijayanagar rulers.
Women Entreprenuerwship in ancient India.

Discuss the negative impact of capitalism.

Write a note on ICICI Bank.

Difference between local and global market.

Globalization and English advertisement.

Write a note on the family background of Priya Paul.

Educational background of Chanda Kochhar,

IV.. Grammar and Composition.

A.

NG AW

Fill in the blanks with suitable form of verb given in the bracket. (any five out of

eight) (5x1=5)

The sun in the east (rise/rises).

Birds by flappig their wings (fly/flies)

Heat gas (expend/expands). .

Every year he —__hisholiday in Mysore(spend/spends).

She cat. (hate/heates).

My friend to see me last night. (come/came)

Who America. (discover/discovered).

She by the time we arrived (left/leave).

Correction of Sentences. (five out to eight). (5x1=5)
Mathematics are a very interesting subject.

2. Ganga is a holy river.

3. Sheis not reading, Isn’t she? _

4. They respond upon one another,

5. Mumbai is largest city in India.

6

-

8

Where you are going?
He eats a apple.
- He is one of my best friend. _

Write an application for the post of Assistant - professor in National college and
enclose it with your resume, (1x10=10)
Prepare an advertisement for the sale of the ‘New Race Bike’ by ‘Super start
international Company”’. (1x5=5)
The Public transport company bus and a car met with on accident. Two persons died
and many severely injured. Write a journalistic report. (1x5=5)
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B.B.A./B.B.M. II Semester Degree Examination, September/October - 2021

MANAGEMENT
QUANTITATIVE TECHNIQUES - II
PAPER - 2.3

(New)

Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:

Use of graph sheets, Business calculators and statistical tables if necessary.

SECTION-A ‘
1. Answer any Ten questions. (10x2=20)
a)  Define probability.
b)  Definerandom variable.
¢) IfE(x*)=74and E(x)=5Find var(x).
d)  Givetwo examples of Binomial distribution.
€)  What is critical region?
f)  What is Type -1 & Type - Il Errors?
g)  Define power of test.
h)  Mention two conditions for % ° - test of goodness of Fit.
i)  What do you mean by Standard Error?
1) Define one - tailed & two - tailed tests.
k)  Write down the t - test statistics & degrees of freedom in the case of test for equality
of means.
) IfR=03& P, =02,Findmeanof (5-5).

[P.T.O.
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SECTION-B
Answer any THREE questions. (3x5=15)

2.  Tickets are numbered from 1 to 100. They are well shuffled & a ticket is drawn at random.
What is the probability that the drawn ticket has:

a) A oddnumber
b) A number 10 or multiple of 10
¢)  Anumber which is square.
3.  Write down properties of normal distribution.
4.  Anunbaised coin is tossed 6 times. Find the probability that the tosses result in .
i)  Headsonly
ii) 3 heads & 3 tails

iii) 5 or more heads.

5. It is required to test whether the proportion of smokers among students is less than that
among the lecturers. Among 60 randomly picked students, 2 were smokers. Among 17
randomly picked lecturers 5 were smokers. What would be your conclusion?

6. 36random observations have variance 1.21. Can we conclude that the population variance
is 2.47
SECTION-C

Answer any THREE Questions. (3x15=45)

7.  The following are the weights in kgs of 7 husbands & their wives.

Couple: 1 2 3 4 5 6 7
Husband: 62 56 59 73 49 54 67
Wife: 55 61 62 68 52 51 62

Test the hypothesis that mean weight of husband & mean weight of wives are equal.
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10.

11.

A survey of 64 families with 3 children each is conducted and the number of male children
in each family is noted. The results are tabulated as follows:

Male children 0 ] 2 3 Total
Families 6 19 29 10 o4,

Apply chi - square test of goodness of fit to test whether male & female children are
equiprobable.

Xis anormal variate with mean 42 and standard deviation 4. Find probability that a value
taken by X is:

i)  Less than 50

ii)  Greater than 50

iii) Less than 40

iv)  Greater than 40

v)  Between 43 and 46
vi) Between 40 and 44
vil) Between 37 and 41.

For the following probability distribution.

X -1 0 | 2
1 1 3 9
P X —_ 2, o T
(x) 5 10 10 5°
Find

) E(x) i) ovar(x) i) S.D(x) iv) E(2x-4) ) E(2xz).
a)  Explain the procedure of hypothesis testin g

b)  Discuss the various kinds of Events.
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B.Com./B.B.M./B.B.A. II Semester Degree Examination, September - 2021

ENGLISH - BASIC
(New Scheme)

Time:3 Houré : Maximum Marks : 80
Text: Merchandise

I.  Answer the following in a sentence or two. (10x1=10)

1.

© N v A W

'—_‘.
=

Who were the masters of the seaborne trade of europe. Asia and Africa during
ancient times?

Which is the largest private sector bank in India?

_Who is the head of ‘eBay’ India?

Agriculature was the basic activity of many people which was known as .
What is trade?.

Who is Priya Paul?

Define capitalism?

When did Chanda Kochhar join ICICI as a management trainee?

She is an icon in the banking sector. Identify the meaning of ‘Icon’.

What is the role of communication in daily existance?

II.  Answer the following in four or five sentences (any five out of eight). (5x2=10)

1

Who were the different trading classes in India?

What according to Indian Government is ‘Women Entreprenuers’?
Give two initial impacts of capitalism on the Indian Society?
Indian women.

What is logistics?

The role of a language in marketing and advertisement.

Name the places where the ‘Park Hotels’ are located?

Which are the medals and awards received by Chanda Kochhar?

[P.T.O.
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III. Write short notes on the following. (any six out of eight) (6x5=30)

1.

~N O B W

8.

~ Discuss about the use of currency from Vedic period to Vl_]ayanagar rulers.

Women Entreprenuership in ancient India.

Discuss the negative impact of capitalism.

Write a note on ICICI Bank.

Difference between local and global market.
Globalization and English advertisement.

Write a note on the family background of Priya Paul.
Educational background of Chanda Kochhar.

IV Grammar and Composition.

A.

0 AU A W N

Fill in the blanks with suitable form of verb given in the bracket. (any five out of
eight) (5x1=5)
The sun in the east (rise/rises).

Birds by flappig their wings (fly/flies)

Heat gas (expend/expands).

Everyyearhe _ hisholiday in Mysore(spend/spends).

She cat. (hate/heates).

My friend to see me last night. (come/came)

Who America. (discover/discovered).

She by the time we arrived (left/leave). ;
Correction of Sentences. (five out to eight). (5x1=5)
Mathematics are a very interesting subject.

Ganga is a holy river.

She is not reading, Isn’t she?

They respond upon one another.

Mumbai is largest city in India.

Where you are going?

He eats a apple.

He is one of my best frlend

erte an application for the post of Assistant - professor in National college and
enclose it with your resume. (1x10=10)
Prepare an advertisement for the sale of the “New Race Bike’ by ‘Super start
international Company’. (1x5=5)
The Public transport company bus and a car met with on accident. Two persons died
and many severely injured. Write a journalistic report. (1x5=5)
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i%:ﬂnqa IR TR (<t
Time : 3 Hours Max. Marks : 60
G : T I F I FFAE 79 7 v T sriand 8/
| uhareR ¥ 3w forfay (10x1=10)

® )Rt
2) ‘IRl i giymeT Fq15Y|
3) ‘S’ FEH % HEAEK B 7
4) ‘B91S suremy’ st w1 ey @ am Taw
5) “J&1 =l Fell’ T Y oEw B B 7
6) WETCHT el S & e T 1 AT FaTsy)
7) ‘@A % e §' AT F @ w2 7
8) ‘3 Heter Sfeft % SR B § 7
9) WHHMT' fhy FEd B 7

10) ‘gfisiid’ Sft <t wshieht = 9 =@y

II. TH T 3 w1 IR faafa (1x10=10)
1) Sfiert & 3gwa 3t fysm w ==t $ifsg
2) ‘SqME FHEH H AR fafE

P.T.O.
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. %&ﬁqmmwm%%q: (1x10=10)
1) TETCETGR v w33 gY S i SR e W A
2) S[El <l hefl TERT R WH STheTg

\V %@ﬁﬁmmaﬁm%@m (1x10=10)
1) & 7o & 4 T & e @ A e |
0) TaAI] % AfEe H AFGd W THW AT

v. Tt ven g &1 3 fafau| ‘(1x10=10)
1) ‘Gt Wehish! <hi Tffan i
2) ‘e ey Sed w3 famd i s Al

vI. i @t w feonft fafa ' (2x5=10)




